
Administrator
打字機
COMPUTER DESK

PowerUser
打字機文字
   ASSEMBLY   INSTRUCTION


User
印章

PowerUser
打字機文字
Page 1 of 5



LEFT SIDE PANEL 1PC

A B

RIGHT SIDE PANEL 1PC

ASSEMBLY TIME PER UNIT: 55  MINUTES

KEYBOARD SHELF 1PC

C D

BOTTOM METAL 1PC

REAR CROSSBAR 1PC

E F

FRONT CROSSBAR 1PC

RIGHT KEYBOARD GLIDE 1PC

G H

LEFT KEYBOARD GLIDE 1PC

WIRE 2PCS

I J

GLASS 1PC

PowerUser
打字機文字
ASSEMBLY INSTRUCTION

PowerUser
打字機文字
Page 2 of 5



SMALL BOLT (1/4"x13mm)

4PCS

SUCTION CUP ( 19x6mm)

LEVELER (5/16"x15mm)

MACHINE SCREW (4x12mm)

LONG BOLT (1/4"x40mm)

CAP (20x30mm)

BOLT (3/16"x12mm)

ALLEN WRENCH (4mm) 1PC

STEP 1

8PCS

4PCS

4PCS

4PCS

4PCS

6PCS

B

5

5

5

5

2
2

2

2

D
A

E

F

1

1

1

1

7

7

7

7

7

7

PowerUser
打字機文字
ASSEMBLY INSTRUCTION

PowerUser
打字機文字
Page 3 of 5



I

I

2

2

2

2

G

H3

3

3

C

4
4

STEP 3

STEP 4

4

STEP 2

PowerUser
打字機文字
ASSEMBLY INSTRUCTION

PowerUser
打字機文字
Page 4 of 5



J

6

6

6
6

STEP 6

STEP 5

FINISH

PowerUser
打字機文字
ASSEMBLY INSTRUCTION

PowerUser
打字機文字
Page 5 of 5




